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B[R] 2,038 183 25 162 199 142 2,607
SRR 474 78 9 69 a0 38 720
aFR8 552 82 7 51 70 31 762
=R 1,338 131 12 116 289 201 1,886
AR 358 50 7 19 55 23 489
LR 563 66 6 27 92 58 754
mEE 1,276 155 24 90 200 90 1,745
KR 2,547 162 12 246 471 280 3,438
N 1,674 119 10 117 288 176 2,208
HER 2,135 150 2 194 309 187 2,790
BEE 8,110 472 19 757 1,419 687 10,777
FEE 5,633 335 34 516 945 532 7,363
RRED 14,699 225 73 574 2,231 1,419 17,802
fESNS 9,266 260 31 549 1,746 1,006 11,852
Hino i 1,163 144 11 124 207 125 1,649
2R 613 62 2 30 77 47 784
alllR 758 58 10 51 99 62 976
BHE 495 38 2 40 43 16 618
LLBR 728 29 3 38 145 75 943
REFE 1,369 110 16 108 232 130 1,835
I RIS 1,577 147 3 111 208 85 2,046
EEIR 2,743 188 12 201 572 318 3,716
BHE 8,287 405 17 477 998 559 10,184
=ER 1,302 107 3 78 213 104 1,703
BER 907 73 0 83 181 108 1,244
RERRT 1,674 113 2 135 462 263 2,386
ARRAT 6,966 632 76 737 1,418 953 9,829
"ER 3,995 186 7 225 908 585 5,321
ZRE 883 60 0 29 125 69 1,097
AL 559 49 12 51 107 58 778
SWE 296 28 1 9 33 18 367
ERE 357 30 4 12 74 24 477
A L= 1,012 118 3 118 226 137 1,477
LBE 1,804 220 10 170 394 205 2,598
Hijm[= 802 59 4 46 139 55 1,050
e 332 20 3 39 66 37 460
&HIIE 558 80 8 43 108 61 797
BER 533 106 8 37 145 74 829
=S 308 32 6 20 60 24 426
ERR 2,898 221 13 302 521 322 3,955
EER 242 58 2 55 63 39 420
RIBE 528 44 1 27 139 65 739
HEARIR 658 80 1 46 107 75 892
AHE 456 69 4 105 130 84 764
=IFE 352 55 2 26 83 39 518
BREE 505 43 2 57 122 71 729
RIS 189 3 4 3 35 28 234
tT=4 0 0 0 0 0 0 0

a&t 96,412 6,135 523 7,120 16,844 9,785 127,034
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B[R] 1,501 132 10 100 176 126 1,919
SRR 379 45 0 38 83 38 545
aFR8 428 42 1 35 62 27 568
=R 1,002 72 8 75 270 188 1,427
AR 284 41 3 8 51 21 387
LR 434 44 3 18 87 55 586
mEE 1,072 104 € 53 184 77 1,422
KR 2,049 116 7 165 413 246 2,750
N 1,358 81 7 80 262 161 1,788
HER 1,726 94 1 163 287 174 2,271
BEE 6,704 328 10 580 1,229 595 8,851
FEE 4,502 223 13 324 836 474 5,898
RRED 12,051 147 23 383 2,026 1,296 14,630
fESNS 7,664 184 16 435 1,682 916 9,881
Hino i 934 91 7 73 194 119 1,299
2R 420 47 2 17 73 46 559
alllR 579 44 6 39 87 54 755
BHE 366 19 0 20 39 14 444
LIS 609 22 0] 30 133 68 794
REFE 1,077 64 5 74 219 122 1,439
I RIS 1,277 72 1 86 187 80 1,623
EEIR 2,229 127 4 130 523 301 3,013
BHE 6,527 287 7 376 907 509 8,104
=ER 1,070 79 2 49 207 101 1,407
BER 730 39 0 53 166 100 988
RERRT 1,347 68 2 87 419 236 1,923
ABRAT 5,562 401 22 508 1,258 861 7,751
"ER 3,209 124 5 168 819 526 4,325
ZRE 709 30 0 18 110 64 867
AL 423 32 10 32 94 52 591
SR 228 19 0] 7 33 18 287
ERE 278 14 3 10 71 23 376
A L= 756 74 1 74 203 120 1,108
LBE 1,452 155 7 85 357 184 2,056
Hijm[= 640 29 4 26 126 53 825
e 286 10 2 26 62 35 386
&HIIE 424 55 2 28 98 57 607
BER 413 80 2 22 130 66 647
=R 251 21 3 12 58 22 345
ERR 2,143 132 8 191 470 294 2,944
EER 194 30 0 28 45 23 297
RIBE 442 28 0 16 124 58 610
HEARIR 497 51 0] 28 104 73 680
AHE 344 51 O] 92 116 77 603
=IFE 294 24 2 18 78 38 416
BREE 421 23 0 27 109 69 580
RIS 134 2 0] 2 31 27 169
tT=4 0 0 0 0 0 0 0

a&t 77,419 3,997 218 4,909 15,198 8,884 101,741




